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Question Number : 1 Question Id : 2549896638 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which type of software is Linux?

Options :

1. % Driver Software

2. ¥ System Software
3. ¥ Utility Software

4, # Application Software

Question Number : 1 Question Id : 2549896638 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
LINUX forg UerR ol GTucdaR 8?

Options :
1. ¥ ZEER AW

2.+ Oww gioedwR



3. % PR dfRaR

4. % QGAIhE Iidedar

Question Number : 2 Question Id : 2549896690 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Supercomputers are primarily useful for:

Options:

1. ® basic word processing operations
2. ¥ data intensive operations

3. * business transaction processing

4. # professional presentation

Question Number : 2 Question Id : 2549896690 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
R T w0 ¢ fohgeh ferg Iuahft 82

Options :

1. # e o< WA sifwR=|
2. ¢ 31§ TR

3. % faomg cigesE M

4, ¥ YA USie

Question Number : 3 Question Id : 2549897909 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following is NOT a network device?

Options :
1. * Bridge
2. * Router
3. ¥ Hub

4, ¢ Stylus

Question Number : 3 Question Id : 2549897909 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
= 4 @ 9-91, U Acash f&arsg Tsi 87

Options :
1. ¥ fos
2. % IW3X
3. % gd

4. ¥ Wzaq

Question Number : 4 Question Id : 2549898426 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which function returns the inverse of the left tailed probability of the chi-squared distribution in

MS-Excel 2019?



Options :

1. % CHISQ.INV
2. % INVCHLISQ
3. # CHIINVP.INV

4. *= INVPCHIIHC

Question Number : 4 Question Id : 2549898426 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

PIH-TT thaM MS-Excel 2019 # Hfi-%rds fe&=gs™ (chi-squared distribution) Y a7 et (left tailed)
UTRISRdT Rl FcshH dleTdl 872

Options :

1. ¢ CHISQ.INV
2. % INVCHLISQ
3. # CHIINVP.INV

4. % INVPCHIIHC

Question Number : 5 Question Id : 2549899331 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which part of the computer is used to type in the information into the computer?

Options :
1. * Mouse

2. * Monitor



3. ¥ Keyboard

4, = Pen

Question Number : 5 Question Id : 2549899331 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. % #7139
2. ¥ AifAR
3. ¢ Sles

4. % U9

Question Number : 6 Question Id : 25498912053 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
An assembler is used to translate a program written in

Options :

1. % alow level language
2. * a machine language
3. * a high level language

4. ¥ an assembly language

Question Number : 6 Question Id : 25498912053 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Uch STTdeR Sl IUTNRT # ford TTg YT a1 Siare oA o forg et STrar 1

Options :

1. % uos A T 9T
2. % g gfie o

3. ¥ Uop ITg WG ATOT

4. Qe QI 1T

Question Number : 7 Question Id : 25498923905 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The embedded software is used in

Options :

1. * online railway information system
2. ¥ smart watches

3. ¥ e-learning software

4. * multimedia movies

Question Number : 7 Question Id : 25498923905 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
TESS e ApIUanT _ Hgdrgl

Options :



1. ® 3T ITd AT YoTTedt
2. ¢ i ufear
3. ¥ i1 divedaR

4., % geiifear fhew

Question Number : 8 Question Id : 25498930219 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following optical discs can be written only once with audio and video data?

Options :
1.+ BD-R

2. ¥ BD-ROM
3. % BD-RE

4. % BD-XL

Question Number : 8 Question Id : 25498930219 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1.+ BD-R

2. # BD-ROM
3. % BD-RE

4. % BD-XL



Question Number : 9 Question Id : 25498930628 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following is the basic building block of a CPU?

Options :
1.+ ALU
2. ¥ RAM
3. ¥ ROM

4, = Timer

Question Number : 9 Question Id : 25498930628 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
fAefeafed 7 @ s=-31, T CPU a1 gfAard fAafor st 82

Options :
1.+ ALU
2. * RAM
3. % ROM

4, % TSR

Question Number : 10 Question Id : 25498930669 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Which of the following connector of sound card can be used to record or mix sound signals from

an external source, such as a stereo system or VCR, to the computer's hard disk?

Options :

1. % line-in
2. # line-out
3. ¥ mono-in

4. % game port

Question Number : 10 Question Id : 25498930669 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¢ &1g-34
2. # AIgd-33C
3. ¥ A3

4. % Uil

Question Number : 11 Question Id : 25498930957 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Which of the following is NOT a high-level programming language?

Options :

1.% C



2. % C++
3. % Java

4. ¥ Binary code

Question Number : 11 Question Id : 25498930957 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
T o @ -t vep I Wi wianfET e gt 82

Options :
1.% C

2. ® C++
3. # Java

4. ¢ 915 e

Question Number : 12 Question Id : 25498933061 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

With reference to Tablet device, data by tracing or entering the corners of linear poly-

lines or shapes is called digitising.

Options :

1. Capturing
2. * Snapping
3. % Snooping

4, * Sampling



Question Number : 12 Question Id : 25498933061 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
&ocie fearsy & daof #, ek ag-3@rstt (Ulell-Ardd) AT SMMhRT & il hl ¢ ehich AT Yer ek, Sl e
& uferar fSfSersfSin & a8 @ St St 81

Options :
1. ¢ e
2. % @ft
3. ¥ Fft

4. % Jwgfein

Question Number : 13 Question Id : 25498933188 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
In magnitude, the left-most bit is NOT actually a part of the number.

Options:

1. % the unsigned
2. ¥ the signed

3. ¥ the dual signed

4, # both unsigned and signed

Question Number : 13 Question Id : 25498933188 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



gRATT (magnitude) #, Tad a1t foe araa & e o fgwar a1 gl

Options :
1. # 3FTIS~8
2. ¥ 958

3. % ZorT O1s8

4, ¥ 3IFYIE-< 3R gig-¢ <Al

Question Number : 14 Question Id : 25498933818 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

32 bit Peripheral Component Interconnect have a transport speed of 33 MHz and work at

Options :

1. % 264 MBps
2. ¥ 132 MBps
3. # 512 MBps

4. % 1 GBps

Question Number : 14 Question Id : 25498933818 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
32 fe dRURe dhuiHe Sexehdre hi giauld wiie 33 Amgds & 3R a8 TR hIH hdT 8l

Options:

1. ¥ 264 THEUINY
2.



¥ 132 gHEIgE
3. ¥ 512 ugdidigg
4. ® 1 Sfiefdigg

Question Number : 15 Question Id : 25498934841 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
CRT monitor has guns.

Options :

1. 3 electron
2. % 4 neutron
3. % 6 proton

4. % 12 electron

Question Number : 15 Question Id : 25498934841 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
e &, (CRT) AR # T gl &

Options :

1. ¥ 3 3



Question Number : 16 Question Id : 2549897789 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Who was the founder of Bluetooth?

Options :

1. % Jaap Haarsten
2. % Martin Cooper
3. # Steve Jobs

4, #® Charles Babbage

Question Number : 16 Question Id : 2549897789 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
&gy, = | O forges g farenfaa fomam wmar ar?

Options:

1. ¢ SU gReA
2. % {1féq g
3. ¥ g Sfeq

4. % ey JeeT

Question Number : 17 Question Id : 2549899434 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which of the following symbols must be used as a part of an e-mail address?



Options:

1. # equal to symbol (=)
2. ® dollar symbol ($)
3. ¥ at symbol (@)

4. # percentage symbol (%)

Question Number : 17 Question Id : 2549899434 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
= 7 @ fohe udier o1 SUThT §-Ad U89 & Udh T o &0 H IuANT foham ST Anfgq?

Options :
1. % SR & Udleh (=)
2. % SfeR & Ui ($)
3. ¥ YT T X & Ui (@)

4. % yfasrd & udien (%)

Question Number : 18 Question Id : 2549899501 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which of the following in MS-Excel 2016 is a predesigned spreadsheet that can be used to create a

new workbook quickly?

Options :
1. # Pivot table

2. ¥ Template

3.



# Microsoft Account

4. * Ribbon

Question Number : 18 Question Id : 2549899501 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fAefafad # & s I MS-Excel 2016 # uget & feSTgA <l 715 Ten Wreefie 8, et suai 2ftear & ge =13
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Options:
1. % grgaie diferent

2. ¥ e

3. ¥ ATShIGTUC 3ThIac

4. % Rgq

Question Number : 19 Question Id : 25498910859 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Toner cartridge is used by printer.

Options:
1. # dot matrix
2. ¥ daisy wheel
3. #* line

4. ¥ |aser



Question Number : 19 Question Id : 25498910859 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
A 4 O g fier & AR h1d s ot U glar 82

Options :

1. ¥ gic Afge fier
2. % it gt fiR
3. % orgq fiieR

4. v IR iR

Question Number : 20 Question Id : 25498911132 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.AThink Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which printer uses heated pins to burn images onto heat-sensitive paper?

Options :

1. * Laser

2. #® Inkjet
3. ¥ Thermal

4. = LED

Question Number : 20 Question Id : 25498911132 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SHT-GA¢! TURT OR Sfaat ot S1u= (8 ) o forg 7 d & forg fiier gy o=t et SuieT fopar Srar 82



Options :

1. # ISR

2. % gahoie

3. ¢ yid

4. %= LED

Question Number : 21 Question Id : 25498911226 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

On the CD surface, the audio signals are stored as

Options :

1. % laser patterns

2. * hexadecimal numbers
3. ¥ pits

4. % magnetic patterns

Question Number : 21 Question Id : 25498911226 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
CD &l gag w, siffeat = & GaIoH & ¥4 d GUgid fhu SId 81

Options :
1. ¥ AR 94
2. % goqrediHe Had

3. ¢ fUcg



4, % Afees Ged

Question Number : 22 Question Id : 25498911231 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Which of the following is a device with the primary function to accept, combine, process and

monitor audio?

Options :

1. # Audio divider

2. ¥ Audio mixer

3. ¥ Audio generator

4. % Audio creator

Question Number : 22 Question Id : 25498911231 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
STt ot ThepR A, GHIRAT A, TG A 3R AifFex T & g uafies sarf arer IuehRor A § 9 o= a1
g8?

Options :

1. % et RamgeR
2. ¢ Siifeat AeRR
3. ¥ It TR

4. % it fehger

Question Number : 23 Question Id : 25498913412 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

What is the process of modifying, encoding or converting the bits structure of data in such a way

that it consumes less space on disk called?

Options :

1. * Data hiding

2. ¥ Data compression
3. ¥ Data decompression

4. % Data encryption

Question Number : 23 Question Id : 25498913412 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
31 i e Txa=1 ot RMifd, Gwnifen a1 uRafdd = &t ag ufchar T shgerdt & foaH ag fewh wR e 11
At 82

Options :
1. % gl
2. ¥ 37 HEIRH

3. ¥ 321 SnnieH

4. % go1 ufepwee

Question Number : 24 Question Id : 25498913488 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

With reference to speech and voice simulation, what is Vocoder?



Options :

1. % An audio processor

2. ¥ A noise in the mp3file

3. #* A noise in the speech file

4. % Afilter

Question Number : 24 Question Id : 25498913488 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
U7 3R S7aTST R o e | dgierter (Vocoder) oRam g?

Options :

1. ¢ U Siifsat TR
2. ¥ MP3 tige H 2R
3. ¥ i trge A 2R

4, % gep fthe?

Question Number : 25 Question Id : 25498913834 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.AThink Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Hash function is while creating hash value.

Options:
1. ¥ one way
2. % two way

3. #* three way



4, #® four way

Question Number : 25 Question Id : 25498913834 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options:

1.+ U At
2. % gronf
3. ® i anff

4. ¥ gr qpft

Question Number : 26 Question Id : 25498918501 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Solid font printer belongs to which of the following categories?

Options :

1. * Inkjet printers
2. % Laser printers

3. #* Thermal printers

4. ¥ Impact printers

Question Number : 26 Question Id : 25498918501 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

gifere wiwe i Ffafea d @ forg goft @ efad 82
Options:

1. ¥ gepoic flicd

2. % oioR fricd

3. ¥ yHq fied

4, ¢ e flicd

Question Number : 27 Question Id : 25498919284 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Which of the following messages will appear on the command prompt screen if the ping

command did not locate the destination in a reasonable amount of time?

Options :

1. ¥ Page cannot be displayed
2. ¥ Request Timed out

3. # Cannot connect in Time

4. ¥ Reply from unknown host

Question Number : 27 Question Id : 25498919284 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
g v spris 3fra T & W &1 uaT A8l amrar § at e | @ onte a1 deer s Uirne ThiA wR e &m?

Options :

1. * Page cannot be displayed



2. ¥ Request Time out
3. * Cannot connect message

4. # Reply from unknown host

Question Number : 28 Question Id : 25498924583 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
What is the extension for Bash Shell Script file?

Options :
1. # .bash
2. ¥ sh

3. # shell

4. % script

Question Number : 28 Question Id : 25498924583 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
J37 ST FEhte WhISeT T UaRIEs oRIT &2

Options :
1. % .bash
2. ¥ sh

3. #* shell

4. % script



Question Number : 29 Question Id : 25498938496 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Everything sent via WhatsApp is protected with a feature where no one else can read or listen to

your messages or calls aside from you and the recipient. What is that feature called?

Options :

1.+ End-to-end encryption
2. ® Hash function

3. * Digital signature

4. * Digital certificate

Question Number : 29 Question Id : 25498938496 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Y aTTch ASt gU T AT i Sl UG AT YA g1 Fehd ¢ | I§ ThiaR T ThgdTdl 67

Options :

1. ¥ de g Vs yfhed
2. % 8 theRRH

3. ¥ f3fSeat R

4. % f3fSieat wiéfthche

Question Number : 30 Question Id : 25498940409 Question Type : MCQ Option Shuffling : Yes
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:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Which of the following is NOT a field of software bug report?

Options:

1. % Lines Of Code
2. * DefectID

3. ® Defect Title

4, * Environment
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Options :

Question Number : 31 Question Id : 2549896316 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The information sent over the internet is divided into small pieces called

Options:
1. ¥ packets

2. % blocks



3. % forms

4. % messages
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Options :
1. ¢ Oched
2. ¥ slay
3. ¥ miwg

4. % gegr (AafSm)

Question Number : 32 Question Id : 2549896493 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
is an area of memory or disk that is assigned to store email messages sent by other users.

Options :

1. # Post-email
2. % Postbox
3. * Dropbox

4. ¥ Mailbox
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Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
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Options:
1. % URe-daa

2. % URedieg

) v

3. % SIudic™

A

4. « ATy

Question Number : 33 Question Id : 2549896511 Question Type : MCQ Option Shuffling : Yes
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Correct Marks : 1 Wrong Marks : 0
Which of the following is a search engine?

Options:

1. # Macromedia flash
2. ¥ Google

3. * Netscape

4. # Firefox
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Options :

1. ¥ depiHifSar wier

2. ¥ e
3. % Jchy

4. ¥ BRI

Question Number : 34 Question Id : 2549896721 Question Type : MCQ Option Shuffling : Yes
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: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
is a program that provides access to the web resources.

Options :

1. ¥ Web browser
2. % Web site

3. * Web page

4. = URL
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Options:
1. ¢ 39 FISOR
2. ® J9grse

3. ¥ 39Uy



4, % gIIRYA
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is a form of Internet navigation that allows a user to browse multiple web pages in a

single window.

Options :

1. ¥ Tabbed browsing
2. * Table browsing

3. ¥ Tentative browsing

4. #® Tagline browsing
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Options :

1. ¢ ¢=g RS (Tabbed browsing)

2. % 91 s3fSiT (Table browsing)

3. # Ffeq afShT (Tentative browsing)

4, % &res sl (Tagline browsing)

Question Number : 36 Question Id : 2549897435 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time



: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which of the following options will help you generate a large capital letter as a decorative element

at the beginning of a paragraph or section in MS-Word 2019?

Options :

1. * Uppercase
2. * Lowercase
3. % Drop Cap

4, = Sentence Case
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Options:

1. # R&F (Uppercase)
2. ¥ AreRhg (Lowercase)
3. ¥ gy &y (Drop Cap)

4. % &g g (Sentence Case)
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JRE stands for:



Options :

1. % Java Runtime Environment
2. # Java Real Environment

3. ¥ Java Rare Environment

4. ¥ Java Real Enrollment
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Options :

1.+ Java Runtime Environment (STTaT 3139 UaraR—4e)

2. % Java Real Environment (STraT RaeT Taar@az—de)

3. % Java Rare Environment (STraT R3R THaRRTHC)

4. % Java Real Enrollment (STrat Raet TRierdc)
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:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
What is the full form of BHIM?

Options:
1. % Bharat Interface For Money
2. # Bharat Interaction For Money

3. # Billing Interaction For Money



4. # Billing Interface For Money
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Options :

1. ¢ YRd 3%y BR FHT (Bharat Interface For Money)

2. % YRd §dM BR 741 (Bharat Interaction For Money)
3. % fafel e wR &7+ (Billing Interaction For Money)

4. % f3fei Sextha wR &+ (Billing Interface For Money)
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: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

A is a simple program that manages all print jobs that are submitted to the print server or a

computer printer.

Options :

1. * print manager
2. * printer pool

3. #® print services

4. + print spooler
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:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % fiic AR
2. ¥ firga
3. ¥ fijc afdfaa

4. v fiie &g

Question Number : 40 Question Id : 2549899395 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following ribbon tab of MS-Word 2019 shows the fonts available for use?

Options :

1. % View

2. % Page Layout
3. * Reference

4. ¥ Home
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Options:

1. % =g (View)



2. % U9 @a1se (Page Layout)
3. # 3K (Reference)

4.+ g1 (Home)
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Which of the following is a popular client-side programming language?

Options :
1.9 CSS
2. % Java
3. % C++

4. % |SP
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Options :
1.9 CSS
2. ® Sar
3. % C++

4. % |SP



Question Number : 42 Question Id : 25498910725 Question Type : MCQ Option Shuffling : Yes
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:N.AThink Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
is a kind of toggle key on key board that enables and disables the numeric pad.

Options :

1.4 Num Lock
2. # Insert

3. ¥ Caps lock

4. % F5
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Options :

1.+ 97 dfep (Num Lock)
2. % 3¢ (Insert)

3. # &g« (Caps lock)

4. % F5
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Correct Marks : 1 Wrong Marks : 0



Which of the following feature of MS-Word 2019 automatically corrects common typographical

errors in a document?

Options :

1. * AutoFormat
2. ¥ AutoCorrect
3. ¥ AutofFill

4, # AutoUpdate
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Options :
1. ¥ JlcitHe

2. ¥ It

Question Number : 44 Question Id : 25498911914 Question Type : MCQ Option Shuffling : Yes
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Which of the following is least used server-side programming language?

Options :

1. % PHP



2.¥ C
3. * ASP

4. % |SP
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Options :
1. % PHP
2.9 C

3. % ASP

4. % |SP

Question Number : 45 Question Id : 25498911965 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
How many paragraph alignment options are available in MS-Word?

Options :
1. # Three
2. * Five
3. ¥ Four

4, # Two



Question Number : 45 Question Id : 25498911965 Question Type : MCQ Option Shuffling : Yes
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Options :
1. % =
2. % U

3. ¥ IR

Question Number : 46 Question Id : 25498912500 Question Type : MCQ Option Shuffling : Yes
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: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Which of the following is NOT an example of a digital wallet?

Options:

1. # Google Pay
2. # BHIM

3. ¥ PhonePe

4, Purse

Question Number : 46 Question Id : 25498912500 Question Type : MCQ Option Shuffling : Yes
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Options :

1. ® [ T (Google Pay)
2. % o (BHIM)

3. # wFY (PhonePe)

4.+ g (Purse)

Question Number : 47 Question Id : 25498919159 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Identify the group under the Mailing tab in MS-Word 2019 which has only two icons in it.

Options :

1. ¢ Create

2. #® Start mail merge

3. * Write & insert fields

4. * Finish
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Options:
1. % 910 (Create)
2. ¥ A 7ol g[F He (Start mail merge)

3. # thics fod iR 81t (Write & insert fields)



4. % g & (Finish)

Question Number : 48 Question Id : 25498920529 Question Type : MCQ Option Shuffling : Yes
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: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
The background of any Word document:

Options :

1. # is always white in colour

2. ¥ has the colour changing option under design tab
3. # is always black in colour

4. % cannot be changed
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Options :

1. % GHIAT Gthe T T §iaT 8|

2. ¢ fSST1eH 9 & dgd U1 Saai o fdehed g
3. % AT et T <A1 AT B

4. % geor g} ST YepdT|
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Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0

Which of the following key combinations can be used to paste the clipboard contents into a

document in MS-Word 2019?

Options :

1. % Alt+D

2. ® Shift+P

3. * Shift + Insert key

4. Ctrl+V
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Options:

1. % Alt+D

2. #® Shift + P

3. ¥ Shift + Insert key

4.+ Ctrl+V

Question Number : 50 Question Id : 25498932133 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

is live, visual connection between two or more remote parties over the internet that

simulates a face-to-face meeting.

Options :



1. % Videoconferencing
2. * Email
3. * Blog

4. % Chatting
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Options :

1. ¢ AfSl itk

2. % 30d

3. ¥ sAnT

4. % A

Question Number : 51 Question Id : 25498933748 Question Type : MCQ Option Shuffling : Yes
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: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

A is a device that modulates an analog signal to digital data in order to connect to the

internet.

Options :
1. # gateway

2. % server

3.



¥ modem

4. % monitor

Question Number : 51 Question Id : 25498933748 Question Type : MCQ Option Shuffling : Yes
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Correct Marks : 1 Wrong Marks : 0
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Options :

1. ® Ted

2. ® R

3.+ AreH

4. % i

Question Number : 52 Question Id : 25498934443 Question Type : MCQ Option Shuffling : Yes
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Correct Marks : 1 Wrong Marks : 0
Windows Movie Maker is a/an editor.

Options :
1. ®# photo
2. ¥ video
3. % text

4. % poth audio and text
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Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
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Options :
1. ® widt
2. ¢ difeat
3. ¥ e

4. % Jifear 3R eRe g1
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Question Id : 25498921253 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (53 to 57)

Read the given passage and answer the questions.
Right from the time we wake up to the time we sleep, it is hard to imagine a day without using
technology. Whether you are travelling or relaxing in the comfort of your home, you are sure to be

surrounded by technology in some way or the other.

Technology has changed the way we live our lives. From washing clothes to cooking, from
securing your home from thefts to capturing the image of your loved ones with your camera, life
has never been so convenient, thanks to various gadgets. A large range of appliances come in
handy all the time. Gadgets like refrigerators, washing machines, microwaves, mixers and

grinders have facilitated our lives in many ways.

Technology has indeed improved our lives. With the help of electronic components, we are able to
read books online. Even the way students learn has changed. They access internet to get more

information on a subject. In some colleges, teachers use tablets to teach students.

In the days of yore, people entertained themselves with the help of theatre, music, dance and

outdoor sports. The present generation cannot think of entertainment without technology. Music,
dance and theatre have been taken over by movies. The entertainment sector is largely driven by
digitisation and internet penetration. More than 227 million Indians use their mobiles, computers

or tablets to access the internet to listen to music, watch a film, a TV show or a cricket match.

Even in the hospitality industry, technology is being a catalyst. In a hotel, guests demand internet
as it has become a need as important as food. Today, they keep a track of their flights, navigate
popular tourist hubs and places to visit in the city, get information about the weather and even

send e-cards to their loved ones.

Today, technology has brought the concept of work outside of the office. People can work from
home on their laptops and visit the office once in a while for meetings or updates. Work today isn't

somewhere you go, it's something you do.

Sub questions



Question Number : 53 Question Id : 25498921254 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Which of the following is NOT the central idea of this passage?

Options :

1. # Technology has made life easy.

2. * In the present times, technology has touched many different aspects of life.
3. # Technology has improved our lives.

4. ¥ Technology has made us lazy.

Question Number : 54 Question Id : 25498921255 Question Type : MCQ Option Shuffling : Yes
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: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Many gadgets facilitate life. Which of the following is used more as a hobby than as a facility?

Options :

1. * Refrigerator

2. ® @Grinder and mixer
3. ¥ Camera

4. # Washing machine

Question Number : 55 Question Id : 25498921256 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Which of the following is an old way of entertainment?



Options :

1. ® Watching a movie on a computer

2. ¢ Seeing a dance performance in a theatre
3. # Watching a cricket match on TV

4. % Listening to music on a mobile phone
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: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
In which of the following ways does technology NOT help in promoting the hospitality business?

Options :

1. ® People can place an order for/ask for more food in the hotel.

2. # People can get all the information about a place sitting in their room.
3. # People can use the internet to track their flights.

4. ¢ People can read books sitting in their room.

Question Number : 57 Question Id : 25498921258 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
What change has come in the attitude of people regarding office and work?

Options :
1. % Office work can be done even from home.
2. % Office work cannot be done from home.

3. # Office work must be done only in the office.

4.



# Office work should not be done from home.

Question Id : 25498921253 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (53 to 57)
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Sub questions

Question Number : 53 Question Id : 25498921254 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0
= & & 9 O1 a2 39 e o halg vra | fAfgd T8t 82

Options:

1. ¥ Jeh-eh = St el SIrET= &7 T 81

2. ® gAAH GHY H, dehleh 3 AN & Sfia hl ehs avg @ uwifad fohar 81
3. ¥ Jehlch A gHR Sita # GUR fohar g1

4.« Janeileh & gH 3merd) o= e g1

Question Number : 54 Question Id : 25498921255 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
3 JUHUN - GAR St ht LA 1T 81 FF & & fohe Iuenzor 1 IuahT giaem 4§ i 2ifeh & = 7 fohar Srar
8?

Options :

1. # AhoRR

2. % grgex 3R eRR

3. ¢ T

4, ® grfpr Ahe

Question Number : 55 Question Id : 25498921256 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

371 & T ol 91 ARSTH T Yeh QRAT aienT 872

Options :

1. ¥ HYR R U thed SEHT



2. ¢ YR H T g e
3. % &Y iR fohche B9 3@

4. ¥ AR W G g1

Question Number : 56 Question Id : 25498921257 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Jfaey aur & Uad & deb-ten (A & 9 fohg avg 9 GgradT Fa! dhedl 8?2

Options :
1. % gledd O 3R WIS B o T T 39T IUTNT R Tohd &
2. ¥ 3Hh gRT ANT 304 HHR | dSR 81, 39 I & IR H Yuf SRR U o Hehd &

3. ® IOt IS ahl ¢ch A oh fIT TN Se=AC T IUTNT X Tohd &

4. « 3k gRT ANT 0 HFR | g6 [ehdTd U Tohd &
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: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
AT H, hrafad 3R i & Geie & T o gf¥entor & o ulRad= simar g2

Options :

1. ¢ GEafeTd ol i BR T o} fohar ST gepart g

2. % FHITTT T hH TR F To! fchdT ST JehdT|

3. % wralera o1 &M, chad sraiad J gl fohar Star anfeg|

4. % FH1ITeTT &l hH TR I Ta fhdT STHT 1Tl
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:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Which of the following value can be replace the question mark (?) in the given expression?
(8792 —4136) ~ 7= 1455

Options :

1. % 38
2.¥ 32
3. % 42

4. % 36



Question Number : 58 Question Id : 25498928840 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Traof@T g & 97 fBea (?) & T W FiT O e HJeEt?
(8792 - 4136) + ? = 1455

Options :

| % 38

2 « 32

3 % 42

4 % 36

Question Number : 59 Question Id : 25498928918 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Find an approximate value of question mark(?) in the following question.

(You are not expected to calculate the exact value)

6578 - 67 X 15=?x6

Options :
1. % 200
2. ¥ 250

3. * 150



4. % 100

Question Number : 59 Question Id : 25498928918 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

e 7o & 9o R (7) & T T TR A AT (HH 3 A R A0 e
1 TR 7 )
6578 + 67 x 15=7 x 6

Options :

| % 200

5 v 250

3 % 150

4 % 100

Question Number : 60 Question Id : 25498929033 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Ashok left from place A for place B at 8 a.m. and Rahul left place B for place A at 10.00 a.m. The
distance between place A and B is 637 km. If Ashok and Rahul are travelling at a uniform speed of

39 km/h and 47 km/h respectively, at what time will they meet?

Options :
1. % 5:30 pm

2.¥ 4:30 pm



3. % 5pm

4. % 4 pm

Question Number : 60 Question Id : 25498929033 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

mWWAﬁWBﬁ&ﬁ%ﬁvwsaﬁrﬁﬁwﬁ,&ﬁwgﬁ WEBYHE AT I
% fore geg 10 5 o €1 T A 3l T B & i Y g 637 iR 41 o sl Ak

T e 3 e s e sk 4 e R R A em R T R g A g
TR & o T

Options :

1 % AT 5:30 =

>« AH 4:30 5

3 % AMH5 T

4 % UMH 4 g

Question Number : 61 Question Id : 25498929053 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Select the option that can replace the question mark (?) in the following series.

8,4,6,15,7, 236.25

Options:

1. % 64.5



2. % 84
3.4 525

4. % 36

Question Number : 61 Question Id : 25498929053 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

feafof@a g&ar y@enr ¥ yeAREd (?) & T W F4T A7
8 4 6 15 2 236.25

Options:

| % 645
5 % 84
5 v 525

4 % 36

Question Number : 62 Question Id : 25498929102 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Find the value of the question mark (?) in the following expression.

- fl f512 =7
g of50 =



Options :
1. % 148
2. % 132
3. % 768

4.+ 192

Question Number : 62 Question Id : 25498929102 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Ar=fafET gdewor & wafEes (2) & T 9T 37 3En?

x fl £512=1%
g of50 =

Options :

| % 148
5 % 132
3 % 768

4 v 192

Question Number : 63 Question Id : 25498929392 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The volume (in cm?®) of a cube inscribed in a sphere of radius 5v/3 cm is:



Options :

1 % 5003

5> « 1000

3 % 1000v3

4. % 1500

Question Number : 63 Question Id : 25498929392 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

543 Terdiey Boar & U@ T & 3162 84 U 99 &1 SaH (9 HelHie J) &1 g
Options :

1 % 5003

5> « 1000

3. ® 10003

4 % 1500
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Options:
1. % A
2. ¥ U
3. % 9H

4., % 7t

Question Number : 64 Question Id : 25498910128 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Select the option that is related to the third word in the same way as the second word is related to

the first word.

Tanning : Leather :: Pyrotechnics : ?
Options:

1. % Wool

2. ¥ Fireworks

3. * Bombs

4. ®* Machinery

Question Number : 65 Question Id : 25498912840 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
e, st 3R Udiehl & =T STIehH o ST eTYdh chifoly 3R ITY Hefdd Ut l ST &IfSIg|

R*TJL2$D=M#8C%B<K1&AW?PE+Q@7F6

e IURI<h SIehA H UUH Ugg 37adl i Jee sh A for@l ST, dt g BR & Jachigai s1aad fAmfeifead & § &t 9
gm?

Options :



Question Number : 65 Question Id : 25498912840 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Study the given arrangement of letters, digits and symbols and answer the question that follows.

R*TJL2$D=M#8C%B<K1&AW?PE+Q@7F6

If the first fifteen elements in the above sequence are written in reverse order, then which of the

following options will be twenty-first from the right end?

Options :

Question Number : 66 Question Id : 25498914086 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : 0 Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Unscramble the letters to form meaningful words in each of the given options, and then select the

word that is different from the rest.

Options :

1. % RASM
2. ¥ NOMO
3. ¥ NVESU

4. % TERAH



Question Number : 66 Question Id : 25498914086 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
A= ek faereu | 14T M sremafdd s1ert ot afedd e srdquf sreg 9158 3R foh 397 & S1ETa 18 T T+
HIfSl

Options :

1. * RASM
2. ¥ NOMO
3. # NVESU

4. % TERAH

Question Number : 67 Question Id : 25498918975 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

7 2reg gt o forg [ SR 11 o T o7 aTet Al hf 9 Ugat 9 (1,2,3,43RA,B,C,D F&IRE TS
Jgertstt & @) 4y MY 2reai & @ e §Y SUGh fdehed o1 a4 difeig

I : oft-apoft ;; ger-amer ; 11

L (1)IRER (2)ur: (3) gqud: (4) sReR

IL(A)TafRasud (B)safawud (C) gm=aa: (D) g =dr

Options :
1. % 1D
2. % 4B

3.¥ 2C



4. % 3A

Question Number : 67 Question Id : 25498918975 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Select two words (from 1, 2, 3, 4 and A, B, C, D) related to the pair of words already given - one

word for each of the two given words.

In the following pair, find two words related to the words already given- one word for each of two

related pairs.

I. Seldom :: Rarely : II.

L. (1) Frequent (2) Often (3) Collectively (4) Tantamount
II. (A) Selectively (B) Infrequently (C) Usually (D)Equivalent

Options :
1. % 1D
2. % 4B
3.% 2C

4. = 3A

Question Number : 68 Question Id : 25498919003 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
39 faehet &1 94 HifSre St i fou 71U sreel & 91 99 e Qe adar gl




ST AR dier
Options :
1. % SR
2. ¢ e

3. % ghe

4, % AT

Question Number : 68 Question Id : 25498919003 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Select the word from the options that is similar to the given set of words in a certain way and

hence belongs to the same group.

Violet : Orange : Yellow

Options :
1. * Purple
2. ¥ Blue
3. ¥ White

4. % Pink

Question Number : 69 Question Id : 25498919839 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

&gl o IR Sits feu T 8, [’5md 9 diF fhadft UepR & Uah i § SR Ueh f97 g1 fO= 21sg o1 994 FifSigl
Options :

1.



# 9y ; fauf (Adversity : Calamity)

2. % ggafa:ggad (Consent:Agree)
3. # fRlyTv™:3dR (Contradict:Deny)

4. + §SR : IUSTIS (Barren : Fertile)

Question Number : 69 Question Id : 25498919839 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Four pair of words have been given, out of which three are alike in some manner and one is

different. Select the word that is different.

Options :

1. # Adversity : Calamity
2. * Consent: Agree

3. #* Contradict: Deny

4.+ Barren : Fertile
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Question Number : 70 Question Id : 2549899690 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
AT (NITI) ST, = TS ST et @ foram, = 8idet 2017 § Uah auiTa ol IS i a1 hl

Options :
1.% 2
2. % 4
3.3

4. % 7

Question Number : 70 Question Id : 2549899690 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

The NITI Aayog, which replaced the Planning Commission, launched a year action plan from

15t April 2017,

Options :
1. %2

2. % 4



Question Number : 71 Question Id : 25498912538 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
i it G531 | hldet & agd & e & & fohdenr Icasi+ giar 8?2

1. e SIZSATFTES

2. FTSSIST & IS
3. TR o T3S

Options :
1. % oherel 1
2. % hget 2 3R 3
3. # hael 1 3R 3

4.4 1,233

Question Number : 71 Question Id : 25498912538 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Which of the following emissions is/are from coal combustion at thermal power plants?

1. Carbon dioxide
2. Oxides of nitrogen

3. Oxides of sulphur

Options:



1. % 1 only
2. * 2.and 3 only
3. % 1and 3 only

4.4 1,2and 3

Question Number : 72 Question Id : 25498912787 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
VR fohche H UgdT ¥ *Ideh 1 & & fehae o= ur?

Options :

1. ¥ di Hichs

2. ¥ i g
3. & ATl AT

4. % Uahol I

Question Number : 72 Question Id : 25498912787 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Who among the following was the first Test centurion in Indian Cricket?

Options :

1. * Vinoo Mankad
2. % CK Naidu

3. ¥ Lala Amarnath

4. # Pankaj Roy



Question Number : 73 Question Id : 25498932412 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
ffefed 7 @ fohg a9k SR & rfera § tfafaa® XVII & d8d It U1 ot IReprHT SR G- aifva fohar

TqT A1?

Options :

1. ¢ @S fafergw dfean
2. ¥ IS i

3. ¥ qrs Ru=

4. % AE SeAgrsit

Question Number : 73 Question Id : 25498932412 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Sati was declared illegal and punishable by Regulation XVII during the Governor-Generalship of:

Options :

1. % Lord William Bentinck
2. ¥ Lord Canning

3. # Lord Ripon

4. * Lord Dalhousie

Question Number : 74 Question Id : 25498932563 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
TR Giaam & Fefafed 5 9 fad Jifce sifder o wu & afffaa &l forar mar 82

Options :

1. % rfHeafch S WdaAdr o1 AfAHR
2. % A oh GHE AT AT 3TfIRR
3. ¥ Fayrfies IUERI &l YRR

4, « U & & [T UM da- & SR

Question Number : 74 Question Id : 25498932563 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following is NOT included as a fundamental right in the Constitution of India?

Options :

1. * Right to freedom of speech

2. * Right to equality before law

3. ¥ Right to constitutional remedies

4. " Right to equal wages for equal work

Question Number : 75 Question Id : 25498935641 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
The produce(s) about 95% of the body's blood cells.

Options :

1. % heart

2.



® lungs
3. # brain

4. ¥ bone marrow

Question Number : 75 Question Id : 25498935641 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
T 95% T<h hifAhT3AT et fAHToT % gRI BT 8|

Options :
1. % geg
2. % thpsl
3. ¥ gfeawh
4. ¢ A AN
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Summer camps are supervised camps conducted to entertain as well as equip students with
various life skills such as teamwork, socializing, decision making, independent and
responsible living and more. It aids the overall development of a child and children have fun

during this process as they get to explore new arenas.
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Question Number : 77 Question Id : 25498938665 Question Type : TYPING TEST Display

Question Number : Yes Calculator : None

Acid rain is a rain or any other form of precipitation that is unusually acidic meaning that it
has elevated levels of hydrogen ions. It can have harmful effects on plants aquatic animals
and infrastructure. Acid rain is caused by emissions of sulphur dioxide and nitrogen oxide
which react with the water molecules in the atmosphere to produce acids. Some
governments have made efforts to reduce the release of sulphur dioxide and nitrogen oxide
into the atmosphere with positive results. Nitrogen oxides can also be produced naturally
by lightning strikes and sulphur dioxide is produced by volcanic eruptions. Acid rain has
been shown to have adverse impacts on freshwaters and soils killing insect and aquatic life
forms. It also causes paint to peel corrosion off steel structures such as bridges and
weathering of stone buildings and statues as well as having impacts on human health. Acid
rain is a popular term referring to the deposition of a mixture from wet and dry
components. Once carbon dioxide is removed distilled water has a neutral pH of seven.
Unpolluted rain can also contain other chemicals which affect its acidity level. Acommon
example is nitric acid being produced by electric discharge in the atmosphere. The corrosive
effect of polluted and acidic city air on limestone and marble was noted by John Evelyn who
remarked upon the poor condition of the Arundel marbles. Since the Industrial Revolution
emissions of sulphur dioxide and nitrogen oxides into the atmosphere have increased.
Robert Angus Smith was the first to show the relationship between acid rain and
atmospheric pollution in Manchester England. The term acid rain was coined by Robert
Angus Smith. Harold Harvey was among the first to research a dead lake. At first the main

focus in research lay on local effects of acid rain. Waldemar Christofer was the first to



acknowledge long distance transportation of pollutants crossing borders from the United
Kingdom to Norway. The problem of acid rain has not only increased with population and
industrial growth but has become more widespread. The use of tall smoke stacks to reduce
local pollution has contributed to the spread of acid rain by releasing gases into regional
atmospheric circulation. Often deposition occurs downwind of the emissions on a
considerable distance with mountainous regions tending to receive the greatest deposition.
The principal cause of acid rain is sulphur and nitrogen compounds from human sources
such as electricity generation or factories and vehicle emissions. Electrical power generation
using coal is among the greatest contributors to gaseous pollution responsible for acidic
rain. The gases can be carried hundreds of kilometres in the atmosphere before they are
converted to acids and deposited. In the past factories had short funnels to let out smoke
but this caused many problems locally so factories now have taller smoke funnels. However
dispersal from these taller stacks causes pollutants to be carried farther causing widespread
ecological damage. Adverse effects may be indirectly related to acid rain like the acid effects
on soil or high concentration of gaseous precursors to acid rain. High altitude forests are
especially vulnerable as they are often surrounded by clouds and fog which are more acidic
than rain. Effect on food crops is minimized by the application of lime and fertilizers to

replace lost nutrients.
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